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MAGIC CIRCLES & SQUARES

Magic Circle Problems

This unit 1s based on numerical calculations. Usually these are circles, the first two of which have
four numbers at four points on the circle and one inside the circle. These numbers are placed
according to some rules or sequence. The third cycle has any four numbers with fifth missing. We
are required to find this number from the given choice, according to the same rule that holds good
for other two circles.

€ EXAMPLES %

3 i) 2
Ex.1 4@5 5@2 5@2
2 <) 8

(A)y12 (B)14 (C)le (D)I1R
Sol. The answer to above question 1s (C) 1.e. 16, because the numbers inside the first two circles
are obtained by multiplying the outside numbers and dividing by 10, i.e.

SxIxdx2 120
10 =0 " 12

The same follows for the second and third circles.

36 9 25
75
Fx.2 4964 SI@-- M@IM
25 16 36

(A)24 (B)25 (C)23 (D)3l
Sol. The answer is (D) i.e. 31, because the numbers inside the first two circles are obtained by taking the
sum of the square roots of the four numbers outside the circles, e.g.

VB + 6+ 5+
=7+ 8+ 5+ 6= 26 (I* Circle)

and Jfie + 425 + o + 81
=4+ 5+ 3+9=21 (Il Circle)

3 4 i)
NoXoxo)
2 3 5

(A)24 (B)26 (0O)28 (D)22
Sol. The answer 15 (B) 1.e. 26, because

(52 — 4%) + (32 = 22) = 14 (I** circle) and

(62 — 52) + (42 — 32) = 18 (1™ circle)

16 15 18
Exd ?@5 II@"J 9@?
12 13 15

(A) 12 (B) 8 (C) 4 -{D} o
Sol. The answer is (D) i.e. 5, because
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(9 — 5) + (16 — 12) = 8 (I* Circle)
(11 = 9) + (15 = 13) = 4 (II™ Circle)
s0, (9 — 7) + (18 — 15) = 5 (III™d Circle)

5 9 8
SHOR QR )
3 3 3

(A) 4 (B) 8 (C)y12 (D) 15
Sol. The answer 15 (C) 1.e. 12 because
(7 x4) = (5 x 3)=28 - 15 = 13 (I* Circle)
(8 x 4) — (9 x 3) =32 — 27 = 05 (11" Circle)
So,(9 x 4) — (8 x 3) = 36 — 24 = 12 (III"d Circle)

7 6 6
2 4 5

(A)49 (B) 51 (C)59 (D)2l
Sol. Answeris (B) 1e. 51, because
(3 =x5)+(7=2)=29 and
(5= 3)+ (6 x4)=39

27 42 27
65
Ex.7 4®1ﬁ IE@ H@?E
3 7 9

(A)9 (B) 12 (C) 15 (D) I8
Sol.  Answer 15 (B) 1.e. 12, because
(16 = 4) + (27 + 3) = 13 (I* Circle) and
(65 13)+(42+7)=5+ 6= 11 (1I™ Circle)
So,(72 ~ 8) + (27 = 9) = 9 + 3 = 12 (II™ Circle)

2 L) [
6 8 4

(A) 3 (B) 4 (C) 5 (D)6
Sol.  Ansseris (B) 1.e. 4 because
(3 xB)+(2x6)=24~+12 =2 (I* Circle)
(4 x 6) = (8 x 3) =24 + 24 = | (II"™ Circle)
So,(12 x 8) = (6 x 4) = 96 ~ 24 = 4 (11" Circle)

3 4 6
5
2 3 5

(A)49 (B) 26 (C)59 (D)2l
Sol. Answer is (B) 1.e. 26 because

(5=4)-(3=2)=14

(5=<6)—(3=4)=18
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So,(BxT7)—(5x6)=26
This example has been solved already (see example 3), so it can be concluded that there are many
method to solve the same problem.

b 9 7
5 12
9 ] 12

(A) 3.7 (B) 3.8 (C) 39 (D) 3.1
Sol.  Answer 1s 3.9 because
CHI3+9+8) _ 4c . 10 =135
10
T+9+11+12
So, M =39+10=39
@w @ﬂ @
(A) ﬂ (B) 1 (C) 3 (DJ' 5

Sol.  Answer 1s (B) 1.e. | because pattern 15
35+5)-(18+-3)=7-6=1
32+-4)-(42-T7)=8-6=2
So,(54 - 6)-(40+5)=9 -8 =1 Ans.

Ex.12 @ @35 ﬁ5®4‘;
@7 ®

50

) 9 (C) 13 (D) 15
Sol. Answer is (C) 1.e. 13 because
75 =
J65+45+9+50 = 169 = 13 Ans.
25 7 21
Ex.13 ?@5? ﬁ@ﬁ w@l}
11 4 11

(A) 16 (B) 25 (C) 36 (D) 49
Sol.  Answer 15 (A) i.e. 16 because

2 x JBErsTelie] = zm =20

2x f778:416 = z.j_ -

S0,2 x P1:13+19+11 = = 16 Ans.

YOO} @

(A) 24 (B)5 (C) 28 (D} 27
Sol. Answer is (B) i.e. 5 because
(le +9)-(12+5) =
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(11 +15)-(9+13)=4
50,(9+ 1B) - (15+7)=5 Ans

16 64 9
25 &1
OTORO,
36 2%

100
(A)6 (B)7 (OO8 (D)9

Sol.  Answer 15 (B) 1.e. 7 because

(JT + 46 + 425 + 436) = 2

=16+2=28

(a9 + Joa + 51 + Jioo) =2
=34+2=17

So,(J& + 40 + e + 25) 2
=14 +2 =7 Ans.

Magic Squares Problems

In these types of questions, numbers are arranged according to some rule in the cells made into
a square. One cell 1s left empty, and we have to find the way the numbers are arranged and mark
the answer from the choice given below. Let us consider some examples -

% EXAMPLES ¢

3 7
9 21
Ex.16 gl 27
5 9
(A)12  (B) 15 (C) 30 (D) 28
Sol.  Answer 1s (B) 1e. 15 because the numbers in opposite cells are 3-times or 1/3 each other. e.g. 7
3=21, 3Ix3sR9x%=27then> x3=15

?
108

Ex.17 T 3

(B

(A) 1 (B)36 (C) 216 (D) 1944
Sol.  The answer 1s 1944 as the numbers are arranged 1n the following way,
2x3=6,3x6=18, 6 x 18 = 108,
18 = 108 = 1944

7 & 5
Exag L3 | 3 [ 4
2 3 T

(A) 12 (B) 3 (C) 4 (D)5
Sol. The answer 15 3 because the sum of the numbers in each column 15 12,
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Ex.19

Sol.

Ex.20

Sol.

Ex.21

Sol.

Ex.22

Sol.

Ex.23

Sol.

Ex.24

Sol.

32 35 39

42 46 51

3 8 ?
(A) 11 (B) 90 (C)60 (D) 14

The answer 1s 14 because the numbers are increasing by 3 and 4 in the first row, 4 and 5 in the second
row and 5 and 6 in the third row.

T 9 16
4 15 ?
13 8 21

(A)29 (B) 19 (C) 23 (D) 25
The answer is 19 because the sum of the first two numbers in each row gives the third number,
ie.7+9=16,4+15=19, 13 + 8 = 21

(A) 255 (B) 440 (C) 190 (D) 250

The answer is 255 as the number is doubled and increased by 1 in each cell, starting from 7, i.e.
Tx2=14+1=15
15x2=30+1 =31

Jlx2=62+1=063
63 x2=126+1=127
127 x 2 =254 + 1 = 255
7| e
2| 3] 16
25 | 4 ?

(A)36 (B)9 (C)25 (D) 64
In the first column 25 = (17 = 12)2 therefore (19 — 16)2 is 9

21 56 70

45 87 84

1ns | 1o | 7
(A) 130 (B) 195 (C) 295 (D) 150

The rule 1s that in each row the difference of first two numbers is doubled.
1.e. (56 = 21) = 2 = 70. Hence the required number (180 — 115) = 2 = 130

17 15 8

99 05 il

36 45 7
(A) 729 (B) 1331 (C) -729 (D) —343
The rule is that in a row as (17 — 15)° = §.

Therefore (36 — 45)° = (-9)° = —729
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Miscellaneous Pattern

Directions :

Find the missing character from among the given alternatives.

Ex.25

Sol.

Ex.26

Sol.

Ex.27

Sol.

Ex.28

Sol.

AR
V%
{A) 625 (B) 25 (C) 125 (D) 156

Clearly, (3 +2)% =25, (15+ 6)> = (21)> = 441 ; (10 + 7)? = (17)> = 289. So, missing number
= (12 + 13)2 = (25)% = 625.
Hence, the answer 15 (A).

3 5
4 i} 5
{a) (c)

(b)
(A)25 (B) 37 (C) 41 (D) 47
Clearly, in fig. (a), 5 x 3 +4=19.
Infig(c) =6x4+5=129
In fig.(b), missing number
=Tx5+6=35>+06=41.
Hence, the answer 15 (C).

[ 5
5 ‘ g 7 ‘ 4 4 1 5
9 9 5
7 i 6 4 7 .
A B C
(A)115  (B) 130 (C) 135 (D) 140

Clearly, the number inside the circle is equal to the sum of the product of the upper three numbers
and the product of the lower three numbers. Thus,

In fig.
A, (5x6x8)+(7Tx4x09)=240 + 252 = 492,
In fig.
B,(7x5=4)+ (6 =8 x9)= 140+ 432 = 572.
In fig C, missing number
=4 =x3x5)+(T=x2=x5)=60+70=130.
Hence, the answer 1s (B).

? ] 2

21 22 40

1 2 3

20 23 43
(A)5S (B)4 (C)3 (D)2

Clearly, in the second column, 22 + 2 -23 = 1.
In the third column, 40 + 5 - 43 = 2.
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Ex.29

Sol.

Ex.30

Sol.

Ex.31

Sol.

In the first column, missing number =21 + | = 20 = 2.
Hence, the answer 15 (D).

5 18 15
3 2 5
4 3 ?

" 27 9
A 11 _B)6 (O3 (D)2

. . 6x4 24
Clearly, in the first column, e 8
18x3 54
In the second colummn, Tx =5 = 27.
Let the missing number in the third column be x.
15xx
Then, S =fQorl5x=450rx =13
Hence, the answer 15 (C).
7 1
[6[25] 2] [ufw] ] [4]9]5
4 6 ?
A B C

(A)I0 (B)6 (C)2 (D)1

The arrangement 15 as follows :

In fig.
A (32+6H)-(22+4H)=(9+36) - (4 +16) =45 - 20 = 25,
In fig.
B, (72 + 112) = (82 + 62) = (49 + 121) — (64 + 36)
= 170'= 10D =70,

In fig. (C), let the missing number be x.

Then, (12 + 42) - (52 + x2) = =12

or 17+12=52+xHorx2=29-25=4
or x=2.

Hence, the answer 15 (C).

iC 2B 44

27A ? 4B

9C 44 168
(A) 8C (B) 12B (C) 16C (D) 18C

In each row, out of the letters A, B and C, each of these must appear once. Also, in each column,

the product of first and third numbers 1s equal to the second number. So the missing number will

be (2 = 4) 1.e. & and the letter be C. Thus, the answer 15 8C.

Hence, the correct answer 1s (A).
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EXERCISE

Directions (Q. I-15) :
In these questions some figures are given. In these figures some numbers are given. These numbers follow
a certain system. One such number 1s missing. Find out the number from the given choices.

7 ? 213 2 219 [/ 1
Alogkcalio!
Q 4 37 1 9|2 I
(A) 280 (B) 441 (C) 653 (D) 714

12 511 T125 21
w | YIYTY
] 207 ?
(A) 425 (B)241 (C) 210 (D) 184

L5

-1 4 1]
Q 3 3 {2017 |lig [30)7 Wflgs ()7
3 2 3 4

(A)40 (B)25 (C)29 (D)35

1 151 1419 4
w | YIYTY
1225 729 7
(A) 639 (B) 542 (C) 529 (D) 641

47 | a3

Q.5 53 ?
31 |37

(A)42 (B)41 (C)40 (D)39

3. 95 24905185
Q6 1@ 4 ?E;i
34 g " 9 2

(A) 132 (B) 320 (C) 274 (D) 262

71 7

Q_-? 23 ®
20 |9

(A)29 (B)28 (C)22 (D)26

| 2

3 31 4 32

Q8 7 21 8 22
13 ?

(A)16 (B)12 (C)41 (D)14

9 8 12 10 16 12
.9
Q 4 5 7 9 9 8
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(A)20 (B)5S (C)4 (D)6

"\/3 "“\/3 "\/3
15 2 ?

Q.10
(A)l1g8 (B)y15 (C)le (D)I12
Q.11
Ol01010)
(A)20 (B)34 (C)18 (D)27
& 7 5
Q.12 10 7 5
9 7 ?
(A) 2 (B)s (O)1 (D) 25
15 & 5
13 3 9
Q.13 & 2 ?
20 7 13
(A)1. (B)4 (©O)6 (D)7
Q.14  Whach one number can be placed at the sign of interrogation (7) in figure 11 so that 1t follows the operations
of numbers in figure [ and figure 117
715 [ 5]21) |21 4
Bicy
Figl
(A) 4 (B)s (C)20 (D)14
Q.15 Insert the missing number in the given trend :
2 10
3 17
3 ?
(A)le (B)15 (C)12 (D)14
Directions :

Choose the missing number 1in question 16-19. The relation between the number within the bracket and

those outside the brackets are the same for both lines in each question.

Q.16

Q.17

17 (112) 39
28 ()49

30
(A)42 (B)77 (C) 108 (D) 154
34 (250)466
282 ( )398
(A) 200 (B)232 (C) 250 (D) 322
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Q.18 17 (102) 12
15( ) 10
(A)52 (B)32 (C)42 (D)75

Q.19 12 (336) 14
15( ) 16
(A) 420 (B) 380 (C) 320 (D) 480

Direction :

In question 20-29 numbers are placed in the figure on the basis of some rules. One place in the figure 1s
indicated by (7). Find out the correct alternative to replace the question mark and encircle its letter.

5 6
Q.20 z#—q 3@5 4-#—3
3 5 5

(A)50 (B)55 (C)60 (D)70

Q.21 9-‘—5 35 ?-({D—m
7 6 4

(A)75 (B)70 (C)65 (D)G60

% 2 6
o 5@9 3@? 4@4

11 (1] ,
(A)4 (B)6 (C)2 (D)8

4 7
023 3{%—5 2@—? ?@—3
4 9 7

(A)9 (B)8 (O)7 (D)5

12 5 9
0.24 A m /?\
13 73 ) 17

(A)25 (B)20 (C)27 (D)28

9 T 6
Q.25 A /?\ m
6 18 5 2 4 20

(A)14 (B)34 (C)60 (D)70

5 5 5
Q24 /‘\ /\ A
8 12 9 16 13 17

A)e (BY7 (©O8 (D)9

27 16 10
LN O N NN
I8 912 20 5 15

(A)12 (B)10 (C)8 (D)6
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Q.28

Q.29

'? /
23 8
0| 9

(A)29 (B)28 (C)22 (D)26
1 :31h::3:7

(A)17 (B)19 (C) 730 (D)930

Direction :
Five sets of rules are given below. On the basis of these rules the entries of question 30 to 34 are filled.

Find out the correct set of rule for every problem and encircle 1ts letter.

Q.30

Q.31

0.32

Q.33

Q.34

a 3]
-1 24
11 12 1
¢ d e
d &
28 12
4 19 T
a b c
d e

7
48 21 s
a b C
a 3]
—3 3
9 27 27
c d e
a b
2 g9
T b -1
¢ d e

(A)a=ed,b=ct+te d=axc
B)c=al d=b e=cxb
(C)al=e 2d=b,a+d=c
(Dba=b-¢,b=c+ae=d-b
(E)a=(e)-1,b=d xe, c=a6

Direction :

In questions 35 to 39 the number inside the small square 1s related some way to the numbers outside it.
Identify the relationship and indicate your answer on your answersheet by encircling the appropriate letter.

Q.35

. @"a’@ A .

(A)13 (B)15 (C)17 (D) 14
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9 <62 8
Q36 (10[5]5 @9 9l 2|6
4 i3> 3

A)4 (B)5 (©)6 (D)8

32 1
Q.37 e ee i i B
(40 3

(A)7 (B)10 (C)13 (D)I12

(A)2 (B)25 (C)3 (D)45

0.39

(A)42 (B)46 (C)62 (D)24

Directions :

In questions 40 to 44 the number inside the small square 1s related some way to the numbers outside
it. Identify the relationship and indicate your answe on your answer-sheet by encircling the appropriate

letter.
1 4
40 |52 2 3 [1o0) 3
¢ 3 ?
(A) 5 (B) 3 (C) 2 (D)0
2 5
Q.41 418117 |86 |6
5 4
(A) 7 (B) 6 (C) 5 (D)3
63 8
Q.42 12] 7 |13 123 |0
37 7
(A) 1 (B2 (C)3 (D)5
15
Q.43 12] 4 |36 750 7 |25
44 100

A)4 (Bys ()6 (D)3

2 2

Q.44 3301 41 7 |16

5 12
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(A) 3478 (B) 1632(C) 7684 (D) 1536

Directions :

In questions 45 to 49 the numbers given n each row follow some rule. Select the number which 15 missing
(7) from the set as per rule amongst the five alternatives given bellow letter by encircling.

Q45 8 8 (20)

4 14 (30)
12 7 (60)
(A)48 (B)36 (C)27 (D)24
Q.46 (50) 14 6
(70) 06 8

™M 06 (12)

(A)70 (B)90 (C) 110 (D) 150
Q47 03 (125) 02

05 (729) 04

07  (343) ?

(A)00 (B)0l (C)02 (D)O03
Q48 (382) 39 7

(125) 98 2

(103) 39 4

(A)2 (B3 ()4 (D)5
Q49 5 6 (=11)

7 8 (~15)

7 ? (33)

(AJOO  (B)01 (C)02 (D)O04

Directions :
In questions 50 to 54 numbers are arranged 1n patterns following some rules. One of the numbers 1s missing
in each pattern. You have to select the missing number from the alternatives given.

I
oso (G485

(A)36 (B)08 (C)09 (D)IlI

Q.51 ';'5{].9 IIIEJ.S 1_1!'5r

(A) 22.59(B) 21.5 (C) 24.55(D) 27

5 7 09

Q.52 g 9 1.4
13 6 ?

(A)29 (B)28 (C)2.7 (D)26
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Q.53 9 9 162

(A)4 (B)50 (C)02 (D)15

g 2 i 8

5 3 2 30

3 5 fi 7T
(A) 14 (B)22 (C)27 (D)18

Directions :
Number in the following questions are arranged according to some definite pattern. One of the numbers
1s missing. You have to select the missing number from the alternatives given and encircle its number in your
answer sheet against the proper question number.
Qs5s (13l ]

(A) 8 (B)9 (C)12 (D) 16

05 4 g

1.2

Q.56 7 84 2
07 ? 09

(A)l6e (B)5s4 (C)63 (D)0.63

1 ]2
_(}3‘1
Q57 g [73\]s
7 |6
(Ayle (BY1B (C) 11 (D) 80

(A)14 (B)12 (C)24 (D) 16

L
Q.59 g'g

(A)15 (B)12 (C)27 (D) 289

Directions :

In question 60 to 69 numbers are placed in the figure on the basis of some rules. One place in the figure
1s indicated by (7). Find out the correct alternative to replace the question mark and encircle 1ts number
against the proper question number.
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Q.60

Q.61

0.62

Q.63

Q.64

Q.65

Q.66

Q.67

Q.68

(A)S (B0 (C)8 (D)12
3 5 6 2 2 2

12 18 s
4 2 5 3 5 9

(A)24 (B)36 (C)20 (D)I18
9 9 7 7 B b

9 1 7
G 9 7 7 B 8

(A)3 (B)8 (C)6 (D)5

][5 [
42| [isfo | |2 ]}

(A)12 (B)16 (C)32 (D)22

O+ B
9 190 6 ? 12 280

(A) 200 (B)240 (C)210 (D) 100

5 ] 10
E B 6.7 ?
N N N

(A)92 (B)8 (C)55 (D)6

12| 540 |4 9| 350 |5 gl ? 4
15 5 S
(A)92 (B) 128 (C)320 (D)9

08 1.2 A
1]_24@»[!.1‘: I.E‘@'Iﬁ 2.22.4
0.4 1.6 2.6

A B
(A) 2.8, 100 (B) 2.8, 360
(C) 1.2, 100 (D) 0.8, 64

173 44x3

Tx3
4.1;3@45:@ |3x315x5 zu;é—@-ﬂﬂ
5x3

Q.69

14x3 22%3

(A)2x (B)7x (C)9x (D) 5x

6@3 4W2 4\/3
2 9 6

(A) 43.62 (B) 43.56




(A)20 (B)22 (C)25 (D)30
|

fr
G 5 5 3 B 3
Q.71
’ f 4 ' # > : I

4
(A) 361 (B)422 (C) 622 (D) 632

(A)252 (B) 141 (C) 101 (D) 115

-9

15 125 10
14 ? 7

(A)147 (B)97 (C)81 (D)87
4 i) 5 b 3 2
Li i ?J g 270

N2 NN

(A)39 (B)49 (C)29 (D)19

A__BR é
""’°<i" ‘i»‘!‘i' “"‘«'i'

(A)12 (B)14 (©)9 (D)-9

Q.74

i 20 37
Q.Tﬁ ® 26 49
20 7 121
(A) I8 _(B) 12 (C)62 (D)I5
2 B

on /A /N

3 1 9
(A)48 (B)98 (C)86 (D)72

e

-]
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Q.79

Q.80

Q.81

Q.82

Q.83

Q.84

Q.86

Q.87

(A)15 (B)13 (C) 12
3 25 2
4 6 4
(A)81 (Bye (C)39
45 9 54
34 9 43
24 ? 42
(A)I8 (B)30 (C)3
7 11 19
13 21 37
27 43 7
(AY75 (Byes (C) 74
5 28 3
11 125 4
0 ? 11
(A) 85 (B)92 (C) 99
13 4 165
? 11 14
(A)25 (B)7 (C)5
41 43 4
47 53 36
7 6l 4
(A) 57 (B)59 (C) 63
2 3 3l
5 T 368
1 4 ?
(A)25 (B)45 (C) 17
4 9 25
49 7 6l
121 169 289
(A) 519 (B) 81 (C) 100
0 ? 16
64 10 36
144 20 256
(A)20 (B)40 (C)5

(D) 10

(D) 36

(D) 10

(D) 73

(D) 70

(D) 2

(D) 67

(D) 65

(D) 529

(D) 0
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6 I8 24
0.88 23 73 113
1 37 ?
(Ayes (B)78 (C)75 (D)4
50 I 7
0.89 11 1 10
335 1 ?
(A)16 (B) 18 (C) 15 (D) 10
5 1 36
0.90 1 4 125
15 15 ?
(A) 240 (B) 250 (C) 290 (D) 300
5 | 126
0.91 4 4 68
7 5 ?
(A) 340 (B) 348 (C) 400 (D) 70
256 128 2
0.92 112 56 14
800 400 ?
(A) 200 (B) 100 (C) 25 (D)50
19 3 25
0.93 17 1 39
9 5 ?
(A)19 (B)21 (C)23 (D)25
12 15 54
0.94 37 14 102
71 23 7
(A) 168 (B) 178 (C) 188 (D) 190
5 1 96
0.95 9 13 88
8 17 ?
(A) 225 (B) 165 (C) 185 (D) 250
5 7 74
0.96 1 8 185
13 ? 205

(A)S (B)e (C)7 (D)8
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4 3 70
0.97 7 8 359
5 10 ?
(A) 115 (B) 125 (C) 130 (D) 145
1 7 324
Q.98 15 [ 441
9 5 ?
(A) 140 (B) 106 (C) 186 (D) 196
12 6 8
0.9 17 5 121
6 8 ?
(A)49 (B)yed (C) 70 (D) 50
225 54 23
Q.100 16 1 5
49 81 ?
(A) 71 (B) 16 (C) 60 (D) 30
50 70 15
0.101 64 16 10
114 38 ?
(A)19 (B)17 (C)38 (D)9l
1 3 28
0.102 2 3 133
7 ? 407
(A)4 (B)e (C)8 (D)9
Directions : i

Each of the following questions has a matrix with a question mark 1n one block. Replace the question mark

by choosing the correct response from amongst the alternatives given :

0.103

Q.104

A2 4 Eé
i3 15 ?
M5 | 09 | Q4

(A) L10 (B) K15 (C) K8 (D)IJI5

K7 L4 M 10
LS M5 | K12
M9 L& ?

(A) K24 (B)L14

(C) K14 (D)MI14
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AC,; | BDy | EGya

Q.] 05 Hliz | KMag 7

QS35 | TV | WY

(A) NP,, (B) 0Q,, (C)NP,, (D) PQ

CreiByg
Dis [ Ay

Q.106 7 |H;

Fq " (i

(A)Ey; (B)E;; (C)F), (D)Hg

Q.107 Find out the missing number

(A)40 (B)48 (C) 56 (D) o4

Q.108 Find out the nussing number

? 13 49
9 17 69
13 11 59

(A)9 (B)S (C)10 (D)2l

Q.109 Find out the missing number

14 28 42

36 112 | 246

18 56 ?
(A) 120 (B) 201 (C) 123 (D) 303

Q.110 Find out the nussing number

1 2 3
11 7 5
120 45 ?

(A)15 (B)16 (C)17 (D)18

Q.111 Which one number be placed at the sign of interogation ?

@, o E ® 6
& @ @

© () 0
(A)S (B)6 (C)8 (D)9
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Q.112 Which number will com in place of "7"

(A)35 (B)37 (C)45 (D)47

Directions :

The numbers 1n following questions have been arranged according to an 1dentical pattern. Find out the
missing numbers :

25 17 41
2

Q-]l3 32 B3 11
26 7 31

(A)26 (B)25 (C)34 (D)38

7 10 11

] ¥
Q.114 2] 3

13 1 14

(A)9 (B)8 (O)15 (D)6

16 14 4
5 7
3 16 15

(A)I5 (B)9 (C)7 (D)5

& 8 ]
]
10 14 |

(A)I1 (B)9 (C)7 (D)5

Q.ll? 9 17 33

65 129 ?

(A) 228 (B) 199 (C) 257 (D) 209

25 | 4 | 57
Qus| ||
2| 7 [ 2

(A)21 (B)11 (C)31 (D)15

Directions :
Arrangement of numbers in the following questions follow a common method. Find out the missing number

Quo | ' *°

9 | 25 | 16
(A)2 (B)3 ()5 (D)4
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64
4 7| 36
(A)32 (B)30 (C)28 (D)40
1 26 | 25

(A)25 (B)36 (C)20 (D)8l
Q.122 Find the missing number.

63
14 4
0

15

(A)33 (B) 145 (C) 135 (D) 18
Q.123 Find the missing number.

1 ?
(A)38 (B)e4 (C)4 (D) 16
Q.124 Find the missing number in the following question :

oioRolaRula

4 29 19

[s] [] [ef [«f [3] [2]

A4 @®B>5 )1 (D)3

Q.125 Number in boxes given below follow the same arrangement. Your task 1s to find out the missing

numbers :
29 38
16 13 21 17
27 9 | 33 5 | 16 | 43
55
0 25
9 9 a

(A) 65,36, 63  (B) 53,24, 63
(C) 49, 32,53 (D) 51, 25, 61

Q.126 Find out the missing number.

g

/X

(A)le (B)9 (C)85 (D)l12

R
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Q.127 Find out the missing number.

(A)28 (B)36 (C)81 (D)49

Directions :

Numbers in the following questions have been arranged using a particular method. Find the number in place
01" II‘?“

| 5 7 |
128 s
Q | 1 s |
(A)40 (B)52 (C)65 (D)75
| 9 80 |

r ]

(A)24 (B)81 (C)20 (D)1l

[ 17 140 |
Q.130 :
[ss ]| | 1]
(A)35 (B)24 (C)16 (D)19
IE as |
72
R I I N

(A)l12 (B)yle (C)32 (D)24
Q.132 Find the missing number.

5 21 51

16 (109 2 22 | 53| 19 17 71 48

6 15 13
(A)25 (B)129 (C) 7 (D) 49
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1 12|34 |5 |6 ]|7)8 9% j10]11(12)33]14005]16( 1718|1920 21|232|33]124]35
DID|IDIC]IB|IDIDIDIC|AJA|ICIAIDIDIDI BID|IDIC|IAIBIDIDID
= 26 | 27 (28 (30 )30 (31 |33 0333403536 (3738130140041 (42 )43/ 44(45) 46|47 |48]49] 50
AlCIDIDICIAJE]IBIDIA|JBID|IDIAIDIBIDIBID|C{D|A|BID])C
IS 51|52 | 53|54 (55|56 ST SR8|59]160 6162 |63]64]65[66)67 (6869 (70| 71(72|73]74]75
C{D|C|B|B|D|BIC|IC|B|D|D|B|JC|B]JC|A|JA|B|C|C|B|A|JC|A
=M 76 [ T7 | T8 |79 | 80 | 81 82 |83 | 84 |85 |86 | BT [ 8K [ B[ 90 (91 [92 (93| 94| 95| 96| 97| 98 ] 99 [100
pNEA C | D | B DA A]IBIC|IBIDIDICIAIBIAIBIBIA|IC| A  BIDIDJA]A
TS 100|102 103{104(105(106]107J108) 109 1 00j011j1012) 113/ 114)115]116[117 |108{109(120{121(122/123]124]125
AlalCc|C|Cc|BlIBlIBIC]|BID|BlA]B]JAJA]JC|B|IBID|IB|C|C|BID
WIS 126|127 (128(129(130/131]132
ClAIBID|A|A]A

Ans.

103.

104.

105.

106.

107.

108.

109.

110.

111.

ANSWER KEY

HINTS & SOLUTION

In each block alphabet occurs skipping one alphabet, and numeric in the last row in each block
1s the sum of numerics in the first & second block. Hence, K8 will replace "7"

Each row consists of alphabets K, L and M, The difference in numeric of third column is 2. So,

the missing number is K 14

Each block comprises two alphabets and a numeric. Alphabets occur in pair with a gap of one
alphabet and first alphabet of third column is the next alphabet of second alphabet of the second
block. Numeric in third block of each row 1s 2 more than the sum of first & second block numeric.

Hence NF4U 1S OUr answer.

Alphabate occurs 1n anticlockwise direction and the numeric is the multiple of 3 in clock wise

derection. So, the answer 15 E,.

The sequence of number in first column is ¥ S5i1e 1 x5=5 5=x5=125 25x5= 125 The
sequence of number in second column is x 4, 1e, 3 x4 =12 12 =4 =48 48 = 4= 192 Hence,

the missing number 15 48.

Number in the third block = 2 = Ist block number + 3 = lInd block number. So, the missing
number 15 5.

Number in the Ist row = 7 * number in the lInd row.
Number 1n the Ilird row = 2 * number in the IVth row.
So, the missing number 15 123.
Number in the third row
= (Number of IInd mw}2 = (Number of Ist r::-w];'-
93 — (27 +63)=3
7T9-(38+37)=4
67 — (16 +42) =9
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

122,

123.

124.

125.

126.

3I9=3x3+6x5

S5l=4x4+5=x7

37=4x3+5x35
Number at the centre 1s the sum of numbers in the row and column.
Number at the centre 1s the sum of numbers in the row and column.
Number at the centre 1s the sum of numbers in the row and column.
Row wise and columnwise total 1s 25
Each succeeding number is one less than the double of preceding number.
Rowwise and columnwise total 1s 86.
4-3=1.

(6 + (2)2 = 40.

(5 + 1P = 36.

15x2=30,2%7 =14 Tx9=63,9 x 15=185

So, the missing number 18 135.

Clearly the numbers along the sides of triangle are the square of digtes of number at the centre.

(1P =1, (4)* = 168" =9

2 =4,(37 =9, (6)>= 36

S0, the naswer 15 (C).

(42 + (5P} - {6 +(1)’} =4

(102 + (3)%} - {(8Y + (4%} = 29

(P +@P - @GP+ =19

So. the answer 15 19.

First number = (25 x 2) + 1 = 51

Second number = (30 — 25)2 = 25

Third number = (30 = 2) + 1 = 61.

Y +@P=5

(5% + (4)F = 41

(6)* + (7)* = 85.
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127.

128.

129.
130.
131.

132.

26+13=39

11 +24 =35

25+9=34

T+28=135

Total of numbers are on the opposite side.
The pattern used for arrangement of numbers is as below :
13 x4 =52 8+5=13 13 x(8-5)=139
20 = 4 = 80 11 +9=20 20 x (11 = 9)= 40
I5x4=140 18+ 17=35 35x (18 -17) =135
12 = 4 = 48 9+ 3=12 13 x(9-3)=72
Same pattern as above.

Same pattern as above.

Same pattern as above.

(16 — 6)% + (5 = 2)% = (1002 + (3)* = 109

(22 - 1522 + (21 = 192 = (72 + (2)* = 53

(17 — 13)2 + (51 — 48)% = (4)2 + (3)? = 25.



